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QUESTION 1

A company is designing the architecture of their new IBM FileNet Content Manager system. They need to determine
how best to scale their farm environment for their specific needs.

What would be a valid reason they would want to choose to horizontally scale Content Platform Engine within a farm?
A. To support increased workload requirements.

B. A farm is required if you have over 500users.

C. Passive Content Engines will increase user login times.

D. Multiple application server vendors are supported in a farm.

Correct Answer: A

The Filenet Content Manager system components support enterprise-level scalability with a multitier, distributed
architecture. In particular, in order to accommodate various scalability needs, FileNet content manager offers both
vertical and horizontal scalability solutions. The vertical scalability of a server can be defined as its ability to handle

additional workload by the addition of a proportional amount of processing power. Horizontally scalable systems can
handle additional workload by increasing the size of the cluster as the workload increases

QUESTION 2

Which two of the following indicators are only defined in a property template? (choose two.)
A. Data type.

B. Cardinality.

C. Choice list.

D. Default value.

E. Class association.

Correct Answer: AB

QUESTION 3

When a property is added to a class, what is created?
A. Choice list.

B. Property template.

C. Property description.

D. Default property value.
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Correct Answer: C

QUESTION 4

The event subsystem is strongly related to which subsystem?
A. Audit.

B. Storage.

C. Security.

D. Federation.

Correct Answer: A

QUESTION 5

Which of the selections below may improve performance during high volume conditions?
A. Adjust Fixed Content Device retention parameters.

B. Modify your Content Engine Web Service Transport (CEWS).

C. Adjust your Lightweight Third Party Authentication (LTPA) parameters.

D. Increase the maximum connections for the application server connection pools.

Correct Answer: D

Latest C2070-981 Dumps C2070-981 Practice Test C2070-981 Braindumps

Latest C2070-981 Dumps | C2070-981 Practice Test | C2070-981 Braindumps 3/3


https://www.passapply.com/c2070-981.html
https://www.passapply.com/c2070-981.html
https://www.passapply.com/c2070-981.html
http://www.tcpdf.org
https://www.passapply.com/c2070-981.html
https://www.passapply.com/c2070-981.html
https://www.passapply.com/c2070-981.html

